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Set Time
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Set Timer
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Show Alarm
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Set Alarm
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Stopwatch
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World Time
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Set Speed and Weight
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Set Mode
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GUI Operation

Responsibilities
Type
Cross References

Notes

Pre-Conditions

Post-Conditions
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GUI

All reference

Of R O|MSS 7HX|1 A= HES Mt B =2 24

k=<2
— = _
=530 st EE ModeManagerQ| clickedButtons S8l A|A
Bl Of| AT
= =

N/A

N/A

ju
Ve /



Set Time

interaction S=t Time

: Watch G I | - Mode Manager | | =

ok I | : Time |

User: Actor

buttonChcked

clickButton

dizplay EditMode

stopBuzzer
I e
izAlarmRinging
ufton && IslongClicked F=True&&BuzzerFlagl=True]
enterEditDam

changed flag's status

[ElickedButtont=/AdjustEl

itton £& elapsedTime==1]

i s e nm ...

craazedEdirTime

editTimeFlow

loop (0.9 )

[Elaps=dTime=5]
hurtonClicked

sl clickButton

StopBUzZZer

e e

isAlarming

bing

hardButton]

b cmrmmmmm e

mcreasel

DEtE 'y

creasaed Data

= Burtion]

decreaseal

Data

TTdecreasedoEs T
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ler=eButton]
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changeCursor

changedCursor
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savedDa=
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interaction Set Timer J

% l : WatchGUI | ‘ : Mode Manager | : Timer
L]
User: Actor 1
e I I I l e r | outenCickes | : i é
clickButton H ; ;
at J | b
' stopBuzzer H
[Buzzﬁmlag ==True] e B
( isAlarmRinging
displayAlarmicon LJ

[Clic kédBuﬂDn::Ad]ustBuhon & IsLon gClickedFlag == True && BuzzerFIag’ I=True && pause'ﬁmerFlag' ==True]
; : enterEditTimer _ t
loop (0,7}  displayEditMode ] ;

[ClickedBution I= AdjusiBuiton &4 ElapsedTimé=5]
buttenClicked

Palale
.\'VU

P clickButton
! stoppuzzer L
{BuzzerFlag ==True] H U
; i B i “isAlarmRinging P |
{BuzzerFlag != True] 1
oot _J i i
! [ClickedButton ==ForvaiButton]
; IncreaseData : :
e Il e
= gigpiaTimer tpqrmime ; i
opt_J i i
3 (ClickedBution ==RewvgrgeBuii : :
] i i decreaseData ! 1
& dispiayTimer timarTime .
oot ] i i
! [ClickedButton ==Modg Bl ! !
¢ [Chckeciution =Wod Entiond changeCursor :
T idpimey ] [T y
saveTimer
7 displayTmer i T i
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: Buzzer

: Timer
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: Mode Manager

- WatchGUI
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User: Actor

interaction Start Timer )
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Pause Timer

interaction Pause Timer )

% “WatchGUI

User: Actor

BifonCTicked ™

displayTimer

i.{____

isplayAlarmicon

: Mode Manager : Timer : Buzzer
clickButton : : :
- : :

a ) : :
[BuzzerFlag 1=Trus ! :
opt_J Z :

ClickedButton=FF dB && jseTimerFlag == T :
[Clic uttom Dmpaéu seuillﬁ’rl]er paj.!se imerFlag rue] :
1 timertime 0L 5

[BuzzerFlag ==True]

dtopBuzzer

el ""'""ia'ﬁj}.fr'n'wﬁih'dih?j'"'""'"""""""""""q:l
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: Buzzer

: Timer

: Mode Manager

n && payseTimerFlag == True]
|

imer

cance

ForwardB
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: WatchGUI

clickBuiton

B
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interaction Cancel Timer )

e tonClicked

User: A

displayTimer |

dis playAlarmicon
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Change Alarm

interaction Change Alarm

% ‘ swatchGUI | | ‘ModeManager

User: Actor i i i

! button Clicked i ;

i clickedBuron H : i H

an J | : ! i

! H stopBuzz 1 o

[BuzzarFlag == Trug] rJ_I

| el e el e e e el Slmmingng T e e ek el e e :
T i i

:Euzza:'FIag I=Trug] i i

- ; : :

' [ClickegButton == AdjustButton && isLongClicked != Trug] . :

i at ) : :

4 i it : ! :

: [izLastAlzrmTimef ! Tn'e]:ha.ngaﬁ.larrr I : ;

' T requestExpirationTime .

' : .,;.U i

: - ExpirationTime [ H

piE Ay | | | |




Turn On/Off Alarm

interaction TurnOnOffAlarm )

R

swatchGUI | :ModeManager :Alarm | :AlarmTimer ‘Buzzer

User: Act i : ] : ]
e Cliceed | : ' : '
. = clickBution : :
alt J : : : i
[BuzzerFlag == Trug] : siopBuzz | i
oo | SR e et L T AN ) ) ) S 1]
dizglayAlarm B ‘ istlarmRinging : :

:EluzzerFlélg I="True]

opt

[Cli|:<EE:IEII.|I:th == RofwardButton && isLongCiicked '= Trug]

g
&
&
¥
5

toggleAlarmTimer

il ﬂfsﬁl&yﬁﬁjé&'ﬁ{ T 4 AamTimertoggled :

disprayAiarmSthiy




Set Alarm

interaction set Alzrm

PR
Vv

% | watchGUI | | ModeManager | | -Alarm | ‘ ~AlarmTime | | “Buzzer
User: Actor
uttonCiicked |
! clickBution i
alt J i :
[buzzerFlag == Trug] :
H H stopBuzz
: 0] J
SAlammiinging L
i=playAlarm H
[cickedBunon =% AjustBurton &8 BurzerFlag = True &4 isLbriaClicked == True] H
H entsrEdaAlam

loop (07 ]

ElapsedTime < 5]

[ClickedBution = Ad

Gy

| cirseamime

stogBuzz

[odzzerFlag 1= Tl

opt

[dlickedButton

éa,r Blarm Tips

increaseAlarmTime: H

dkplSy changed Clr

iclickedBution) = ModeButior]

opt H
[¢lcikedButtor i
H 1 secreasedlamTime
i changedifarmTime

e/
T changeCursar

HarmTime H

T eadiam |

zavellarm




Start Stopwatch

interaction Start Stopwatch )

% swatchGUI ‘Mode Manager Tick ‘Stopwatch Buzzer
User: Actar  _ ' : : ! i
,F'ﬁuﬂunt:hcked 1 cickButton : : : :
: ' ————————— : i i
El_t) BuzzerFlag == : : :
i Trug] ' stopBuzzer i
E "‘E" r="r°r-=-=r-T e e e ‘5"'."""“7".'""“;' i """""j]
¢+ isAlarmRinging i .
i5play Stopwatch :
[BuzzerFlag != True] i
' opt J [ClickedButton = FarwardButton] H '
5 startStopwatch
E L T - :
! loop (0.) ) :
: opt ) [isPaused :
' : B I=True] ]
inc reaseCurrentTimE.[
Z *:currenmme :
e caanaen : ! :
I;Jisplay‘stupwalcr—: : : L ;




Pause Stopwatc
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interaction Pause Stopwatch )

% swatchGUI :Mode Manager ‘Stopwatch ‘Buzzer
User: Actor
:.—...m"rm”':'":ke'[j i clickButton : 5
alt /I [BujzzerFIag == Trug] stopBuzzer :
| L | S—
isAlarmRinging : T
isplayStopwatch :
[BuzzerFlag |= True] _' "
i opt /J ) 1 . '
' [ClickedButton == ForwardButton: '
i && 1sPaused 1= Trug] :
: auseStopwatch : ;
5 = - e
e e T CT T e |
UlsplayStopwatch]_| : currentTime -r '




Resume Stopwatch

interaction Resume Stopwatch )

Palale
.\'VU

% watchGUI :Mode Manager :Tick :Stopwatch :Buzzer

User: Actor

. buttonClicked _ : : : :

: 6 clickButton : : : :

alt [Euz#erFIag ==Trug] stopBuzzer

I DA T ighlarmRinging T
_____ Beplaystopwater) ||| & T b

[BuzzerFlag 1= True] . i :

| opt_JCiickd pution == ForwardButfon]

resumeSiopwatch

! i fioop o J : :

| bl [oe ) | i

: : isPaused : ;

i : 1= True] increaseCurrentTime

: : currentTime - :

i IsplayStopwatch : : : :
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Reset Stopwatch

interaction Reset Stopwatch )

% watchGUI ‘Mode Manager

User: ACIar - Clicked
y N

ClickButton

:Stopwatch

:Buzzer

alt ) [BuzierFlag == True]

DisplayStopwatch

- —

[BuzzerFlag = True]

stanlJ:zzer

resetStopwatch

[Clickdq puiton == AdjustButton &é& isPaj

sed == True]

!

;i------------------.l_____________________________.

currentTime




Change Timezone

interaction Change Timezone )

% watchGUI :Mode Manager World Time ‘Buzzer
User: Actar _ ' E
 DUMONClIcked, & CiickButton : :
: — : :
Bu,:*-:zerFIag == True SIZDDBELIEZEF i
BisplayWorldTime isAlarmRinging .

[BuzzerFlag = True]

i {"

changeTimezone
—

opt [Click §Button == anafdaijttnn]

curre_rtffity

fll

Nev



Start Calorie Check

raction Start Calorie Check )

SRR
.\'VU

% watchGUI : Mode Manager Tick : Calorie Check
User: Actor
| buttonClikeed | ' I :
i [} alt [} (]
. . clickButton —v—) : '
5 M ClickButton == ForwardButton && startCalorieChéck == True && BuzzerFlag |= Trus
! loop ! i
; opt pauseCalorieCheck == True
s:artC?lnrieCheck
increaseCalorieTimer
R N P I S e . e O O e P e o =
P ) W Y ) < Calarie, Speed, Weight !
i displayCalorie |l : 1NN IR
i BuzzerFlag == True i
: stopBuzzer ’D
i -|E ...................... i ....................... é- - -Iéﬁlaifﬁé?ﬁéiﬁé ........... : ......................................
L displayAlarm | i 5 i



Pause Calorie Check

raction Pause Calorie Check )

% watchGUI : Mode Manager : Calorie Check : Buzzer
User: Actor
i buttonClicked i
i 2 - clickButton ! ; E
! alt | : :
! ClickButton == ForwardButton && startCalorieCheck == True :
; && BuzzerFlag '=True ! :
] 3 : pauseCalorieCheck . :
; s B : :
£ tispiayCaiond e e e e i
! — BuzzerFag == True : :
! EE stopBuzzer :
e T T e il
S : 7 . isAlarmRingi gg .
.E displayAlarm : : :




Resume Calorie Check

raction Resume Calore Check )

fﬂﬂA
N

% watchGUI » Mode Manager Tick : Calorie Check : Buzzer
Actor: Actor
{1 - ultonCircked |; alt ) ClickButton = ForwardButton && PauseCalorieCheck =
: —" True && BuzzerFlag k= True : ,
; 2 - clickButton : ; - ;
i loop : :
opt JauseCalorieGheck = Trug
: 3 - resumeChlofieCheck : E
4 -(indreaseCalorieChegkTimer :
S —— < 8 dlorie, Speed, Visign § T :
<EFI displayCalorie | | = pFp—-—————————— o e e e e e e —_—————— ;
; BuzzerFlag == True ' :
: + 7:stopBuzzer : i

[ 0

__________________ : & - isAlarmRinging : E
:{9 . displayAlarm T :



Set Speed and

weight

2

User: Actor
buttonClicked

buttonClicked

“displayAlam

: Calorie Check

displayAlarm

" displayData

ispiayChangedCursor

[ ClickButton == AdjustButton &&|
= True]

| ongClick == Trus && BuzzerFlag

enterSetSpeedandWeight

T dizplaysetSpeedandWeight -

clickButton

loop (1.%) J [ClickedBitton == AdjustBunion &4 ElapsedTime < 5]

)

[BuzzerFlag == Trug]

stopBuzzer

clickButton : !
alt J[ BuzzerFlag == Truz | SlopSuzzer '
e
isAlarmRinging

ACIicked Button == ModeButton]

displayCa|

changeCursor
Et [ChickdButton == ForwardButton]
increaseData
e = R

opt [ClickedButton == ReverseButton] H
decreaseData o

=saveCarlorieSening

orie

T exiEdiCaloneCheck




Reset Calorie Check

1Reset Calorie Check/

A

watchGUI

: Mode Manager : Calorie Check

User: Actor

1 1: Messa

8 displayﬁ\lamﬂ

gel

2 : clickButtgn

: Buzzer

alt
© ClickButton == AdjustButton && BuzzerFlag != True

-

Emmm -

3 : resetCalorieCheck

BuzzerFlag == True

6 : stopBuzzer

7 :isAlarmRinging

[ S A e a——

Palala

)
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Stop Buzz

interaction StopBuzz
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Change Mode

intzraction Changshods )

% -watchGUI

‘ModeManager

‘Buzzer

Uszer: Actor
H butionClicked

clickButton

. :

[BuzzerFlag == Tru:' ................................
?t displayMode

[BuzzerFlzg 1= Trug)

R

[Clicksd :B\.unn == ModeButton && isLong

icked '= True]

Ew

[sLaEsIMndelmex 1= True]

displayMode

€ displayChangebode |




interaction SetMode J

Set Mode s

: Mode Manager

r )
urtonClicked ! clickButton

alt : stopBuzzer A :
[BuzzeiFlag==Trus] I A 30 S (O SO N NN | S
P L] IsAlarmRinging
- — — — - —displayAlarmlet. — - e e —— e e e T H
[CIicheEiBun.on==ModeBunon Eé&lsLDngCIicked==True&&Buzzel:FIag!=True 1 :
: ; enterkEditMode H
loop (0.1 J : :
[Click:kdBul:mn!=AﬂjustButmn ;&& ActiveModeCount!'=4&&FElagsgd Time=5] :
H buttonClicked & clickButton :
alt H StopBuizer Al [
5 L oy T - e
[BuzzerFlag==True] =AlarmRinging
| piapmnsieen o — | ;
[BuzzerFlag!=True] :
opt )
[ClickedBun.on==MUdeBu lion&& BuzzerFlag!'=True] .
: cha ursor H
R B A S P [y A H
changedCursor [ H
isplayChangedCursor] H
opt :
[CIiclcedBun.on::Fon.\rard Button& &BuzzerFlag!=True] '
: kh eStatus H
e Rt LS { :
displayChangedCursor] chagnedCursor H
| SdavelMlodeData :
P :
savedModeData :

displaySavediodeDard |

SRR
\VV
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Write Test Code & Unit Testing
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Time Test

Vew

f!!

@Test
public void timeflow() {
Time t=new Time();
for(int i=0;i<100;i++){...}
int result=t.getCurrentTime().getSecond();

assertEquals( edwected: 1, result);
LocalDateTime test=LocalDateTime.of( year 9999, menth: 12, dayOfMonth: 31, heur 23, minute 59, second: 59, nancCfSecond: 990000000);
t.setCurrentTime(test);
for(int i=0;1<100;i++){
t.timeflow();

public void changeCursor() {

Time t= new Time();
result=t.getCurrentTime(). getYear(); t. ChangECUrsop()
assertEquals( expected: 0, pesult); N W cursor SIS

int result=t.getCurrentCursor();
assertEquals( expected: 1,result);

t.changeCursor();
t.changeCursor();
t.changeCursor();
DUDU..C void Sa\*’enata{] '[ t.changeCursor();

Time t= new Time(); t.changeCursor();

LocalDateTime test=LocalDateTime.of( year 7878, month: 1, dayOfMonth: 1, hour @8, minute B, second @@, nanoOfSecond: @); t.changeCursor();

t.setEditTine(test); t.changeCursor();

t.saveData(); // A% change 31A] ZojiCts

int result=t.getCurrentTime().getYear(); result=t. getl:ur-r-entl:ursorc)

assertequals( epected: 7878, result); , assertequals( expected: @,result);

assertFquals( epected null, t.getEditTime());



Time Test

< > ]
[@Test (( ,;
public void increaseData() { @Test
Time t= new Time(); public void decreaseData() {
t.enterEditData(); Time t= new Time();

t.enterEditData();
t.increaseData();

int result=t.getEditTime().getSecond(); t.decreasebata();
assertequals( expected 1,result); int result=t.getEditTime().getSecond();
LocalDateTime test=LocalDateTime.of( year 9999, month: 12, dayOiMenth: 31, hour 23, minute 59, second: 59, nanoQfSecond: @) assertEquals( expected: 59,result);
t.setEditTime(test); LocalDateTime test=LocalDateTime.of( year @, month: 1, dayOfMonth: 1, hour @@, minute: @@, second: @@, nancOfSecond: @);
t.increaseData(); t.setEditTime(test);
[/ EE 100000/4' & IE=A t.decreasedata();
result=t.getEditTime().getYear(); //EE ! =Al
assertEquals( expected: @, pesult); result=t.getEditTine().getYear();
assertEquals( emecied 9999, pesult);
/gt

//amt

t.setCurrentCursor(6);

t.setCurrentCursor(s);
t.increaseData();
resULt=t. getaiT(): t.decreaseData();

assertEquals( expected: 10, result); result=. getehT();
assertEquals( expected: 8, result);

t.increaseData();
t.increaseData();
t.increaseData();
t.increaseData();
t.increaseData();
result=t.get6NT();
assertEquals( expected: -12,result);

t.5etGHT(-10);

t.decreaselata();
t.decreaseData();
t.decreaseData();
result=t.getGNT();

assertEquals( expecisd: 14, result);

[/ format

t.setCurrentCursor(7);
t.decreaseData();

boolean re=t.getFormat();
assertEquals( expecied: false,re);

J/format

t.setCurrentCursor(7);
t.increaseData();

boolean re=t.getFormat();
nssertEquals( epected false,re);



Time Test - passed

" Test Results
TimeTest
timeflow()
saveDatal)
changeCursor()
decreaseData()

increaseDatal)

18 ms
18 ms
13 ms
2 ms
1 ms
1ms

1 ms

()



Alarm Test

public void IsAlarmTimeCheck() {
ModeManager man = new ModeManager();
Buzzer buzzer = man.getBuzzer();

Alarm alarm = ((Alarm)(man.getmodes()[11));
alarm.enterEditAlarm();
alarm.increaseAlarnTime();
alarm.changeCursor();
alarm.increaseAlarmTine();

alarm.

time.setCurrentTime(LocalDateTime.of ( year 2020, month: 1, dayOiMonth: 1, hour 1, minute: 1,

alarm.isAlarmTimeCheck();
Jlalarm 2
assertEquals( expected: false, buzzer.getBuzzerOn());
assertFalse(buzzer.getIsAlarmRinging());

T 20f buzzer?t 22/A =

flalarmE SHEEAE

alarm.turnOn0ffAlarm();

alarm.isAlarmTimeCheck();

assertEquals( expected: true, buzzer.getBuzzerOn());
assertTrue(buzzer.getIsAlarmRinging());

public void ChangeAlarm() {

Buzzer buzzer = new Buzzer();
Tine time = new Time();

Alarm alarm = new Alarm(buzzer, time);

alarm.changeAlarn();
alarm.changeAlarn();
alarm.changeAlarn();
alarm.changeAlarn();
JlalarnE 48 HFE 0

assertEquals( ewpected: @, alarm.getCurrentAlarmIndex());

@Test
public void TurnOnOffAlarn() {

Buzzer buzzer = new Buzzer();
Tine time = new Time();

Alarm alarm = new Alarm(buzzer, time);

™

//alarmZ deactivate->activate.
alarm.changeAlarn();

alarm. turn0On0fFALarn();
boolean isActivated = alarm.getCurrentAlarmTimerObject().isActivatedTimer();

assertEquals( expected: true, isActivated);

v

fﬁ!



Alarm Test

public void IncreaseAlarmTime() { @Test
Buzzer buzzer = new Buzzer();
Time time = new Time();
int i;
Alarm alarm = new Alarm(buzzer, time);

public void ChangeCursor() {
Buzzer buzzer = new Buzzer();
Time time = new Time();

Alarm alarm = new Alarm(buzzer, time);
alarm.changeCursor(); alarm.changeCursor(); alarm.changeCursor(); alarm.changeCursor();
assertEquals( expected true, alarm.isCursorHour());

alarm. enterEdltAlarm()
//hour £ 258
for(i=0; 1 < 25; 1i++)
alarm.increaseAlarmTime(); }
alarm.changeCursor();
J/minuteE 708 F7b
for(i=0; i < 78; i++)
alarm.increaseAlarmTime();
LocalDateTime s = alarm.getCopyOfAlarmTimer();
LocalTime t = s.tolLocalTime();

@Test

public void SaveAlarm() {
Buzzer buzzer = new Buzzer();|
Time time = new Time();

Alarm alarm = new Alarm(buzzer, time);

assertEquals( expected: @, t.compareTo(LocalTime.of( hour 2, minute: 1@, second: 8))); alarm.enterEditAlarn();

} alarm.increaseAlarmTime(); alarm.increaseAlarmTime(); alarm.increaseAlarmTime();
alarm.changeCursor();
alarm.increaseAlarmTime();

@Test

alarm.increaseAlarmTime();
LocalDateTime s = alarm.getCopyOfAlarmTimer();
LocalTime © = s.toLocalTime();

public void DecreaseAlarmTime() {
Buzzer buzzer = new Buzzer();
Time time = new Time();

alarm. saveAlarm()

Jlatarmel 2 IS5 alarm S/ index Of =4 test.

assertEquals( expected: @, alarm.getCopyOfAlarmTimer().toLocalTime().
compareTo(alarm.getCurrentAlarmTimerObject () .requestExpirationTime()));

Alarm alarm = new Alarm(buzzer, time);

alarm.enterEditAlarm();
alarm.decreaseAlarmTime();
alarm.changeCursor();
alarm.decreaseAlarmTime();

LocalDateTime s = alarm.getCopyOfAlarmTimer();
LocalTime t = s.tolLocalTime();

//00:00
assertfquals( espected 8, t. cnmpareTn(analTlme of ( hour 22, minute: 59, second: B)));

7 hour = 18 #=, minuteS 18 &=, -» 22:59%2 9f




Alarm Test

@Test

SRR
A1

public void TurnoffAlarm(){
ModeManager man = new ModeManager();
Buzzer buzzer = man.getBuzzer();

Alarm

alarm.
.increaseAlarmTime();
alarm.
alarm.

alarm

alarm

alarm = ((Alarm)(man.getmodes()[1]));
enterEditAlarm();

changeCursor();
increaseAlarmTime();

.saveAlarm();

Time time = ((Time) (man.getmodes()[0]1));
time.setCurrentTime(LocalDateTime.of( year: 2828, month: 1, dayOfMonth: 1, hour 1, minute: 1));

alarm.

isAlarmTimeCheck();

assertFquals( s:pected false, buzzer.getBuzzerOn());
assertFalse(buzzer.getIsAlarmRinginag());

alarm.
alarm.

turnOnOffaLarm();
isAlarmTimeCheck();

assertFquals( s:pected true, buzzer.getBuzzerOn());

,-"II,."II g;g;

2f=Al test

M



Alarm Test- passed

Ay

v @ 12 I = <
+" AlarmTest (Sys)

SaveAlarm
IncreaseAlarmTime
TurnOffAlarm
ChangeCursor
Changealarm
DecreaseAlarmTime
IsAlarmTimeCheck
TurnCnCffAlarm

Q ¥ 1 &

173 ms
168 ms

o ms
LY -

Er\ﬂ.-

-t -

P ms
ol

-
s
o

o ms
o =

o ms
ol

o ms
ol

v Tests passed: 8 of
"C:\Program F

Process finis

Palala

A1



Timer Test

increaseData(){ decreaseData(){
Buzzer buzzer = r b
Timer 3 Tiner tine Timer (b
timer. timer.enterEditTimer ()

timer.setTinerTime(LocalDateTime.
timer. increaseData()
getTinerTime() .getDayOfHontn(
o) ) ) .getTinerTine().
.getTimerTime().g

enterEditTimer()

Timer timer=| Tim )
().getHour(), temp)
timer.enterEditTimer()

assertEquals(timer.
assertEquals(timer.getsave
ertEauals (timer. getCurrenttursor() .
ertEquals(timer. getCurrentlurs ¢ tiner., setTinerTine(LocalDateTine.
timer. de eData()
timer.getTimerTine
assertEquals(timer.getTimerTime().getMinute()

_getHinute()
n s(timer.getTimerTine().

.getsecond

getHinute()-

etTimerTime().getMinuts

timer.cha

timer
timer.in

temp=timer.getTimerTime().get
timer. increaseData()
(timer.getTimerTime(

tiner. dec
e uals(timer.getTimerTime().getSecond(), temp) ;|




Timer Tes

saveTimer() {

Buzzer bt

Timer time

timer.s
timer

etTimerTime (LocalDateTime. of( ))

.setSettingTimer(LocalDateTime.of 1)

LocalDateTime temp=timer.getTimerTime()

timer

Timer()

decreaseTimer() {

Buzzer buzzer =

Timer time

timer.setTimerTime (LocalDateTime.
timer

startTime

rtEquals(timer



Timer Test

Run:

SRR



public void startStopwatch() {
O pwa C eS StopWatch stopWatch = new StopWatch();

int 1i;
stopWatch.startStopwatch();

for(i=0; i < 10002; i++)
stopWatch.increaseCurrentTime();

assertEquals( expected: @, stopWatch.getCurrentStopWatchTime().compareTo(LocalTime.of( hour @, minute: 1, second: 4@, nanoOfSecond: 20000088)));

assertEquals( expected: false, stopWatch.getIsPaused());

H
Mg

[/ BAE Bol4 stopwateh? HTE Y

for(i=0; i < 40080000; i++)
stopWatch.increaseCurrentTime();

asserteEquals( expected: @, stopWatch.getCurrentStopWatchTime().compareTo(LocalTime.of( hour 1, minute: 39, second: 59, nancOfSecond: 990008000)));

assertEquals( expected: true, stopWatch.getIsPaused());

@Test

public void resumeStopwatch() {
StopWatch stopWatch = new StopWatch();
stopWatch.startStopwatch(); stopWatch.pauseStopwatch();

stopWatch.resumeStopwatch();
assertFalse(stopWatch.getIsPaused());

@Test

public void pauseStopwatch() {
StopWatch stopWatch = new StopWatch();
stopWatch.startStopwatch();
stopWatch.pauseStopwatch();
assertTrue(stopWatch.getIsPaused());



Stopwatch Test

@Test
public void resetStopwatch() {
StopWatch stopWatch = new StopWatch();
int i;
stopWatch.startStopwatch();
for(i=0; i < 10002; i++)
stopWatch.increaseCurrentTime();

JRA
.\'VU

stopWatch.resetStopwatch();
assertEquals( expected: 8, stopWatch.getCurrentStopWatchTime().compareTo(LocalTime.of( hour: @, minute: @, second: @)));

@Test
public void lapStopwatch() {
StopWatch stopWatch = new StopWatch();
int i;
stopWatch.startStopwatch();
for(i=0; i < 10002; i++)
stopWatch.increaseCurrentTime();
stopWatch.lapStopwatch();
for(i=0; i < 10002; i++)
stopWatch.increaseCurrentTime();
/flapTImesl A&,

assertEquals( expected: 8, stopWatch.getLapStopWatchTime().compareTo(LocalTime.of( hour @, minute: 1, second: 48, nanoOfSecond: 20000800)));



Stopwatch Test

JRA
.\'VU

@Test
public void increaseCurrentTime() {

StopWatch stopWatch = new StopWatch();

stopWatch.startStopwatch();
int i;

for(i=@; i < &; 1++)
stopWatch.increaseCurrentTime();
assertFalse(stopWatch.getIsPaused());

for(i=0; i < 70000008; i++)
stopWatch.increaseCurrentTime();
assertEquals( expected: 8, stopWatch.getCurrentStopWatchTime().compareTo(LocalTime.of( hour: 1, minute: 39, second: 59, nancOfSecond: 990080800)));



Stopwatch Test — passed ()

Palala
Ve

Run: Main_test StopWatchTest
P v O 12 = T QWP g v Tests passed: 6 of 6
" StopWatchTest (Sys) 1s115ms  "C:\Program Fil
o pauseStopwatch 168 ms
increaseCurrentTime 457ms | Process finishe
startStopwatch 440 ms
lapStopwatch 2 ms
resumeStopwatch 0ms
resetStopwatch &ms
=

. Tests passed: 6



Calorie Check Test it et <

public void increaseData() {

CalorieCheck calorieCheck = new CalorieCheck();

int tempWeight = calorieCheck.getWeight();
calorieCheck.setTempWeight (tempWeight);
calorieCheck.increaseData();
assertTrue(calorieCheck.getCursor());

assertEquals( expected: tempWeight+1, calorieCheck.getTempWeight());

J/templWeight = 999

tempWeight = 999;

calorieCheck.setTempWeight (tempWeight);
calorieCheck.increaseData();

assertEquals( expected: 8, calorieCheck.getTempWeight());

/feursor = false, Speed &7
calorieCheck.setCursor(false);

int tempSpeed = calorieCheck.getSpeed();
calorieCheck.setTempSpeed(tempSpeed);
calorieCheck.increaseData();
assertFalse(calorieCheck.getCursor());

assertEquals( expected: tempSpeed+1, calorieCheck.getTempSpeed());

HiRFfof it

rg

I=]

ry

//tempSpeed = 995 0
tempSpeed = 99;
calorieCheck.setTempSpeed(tempSpeed);
calorieCheck.increaseData();

assertEquals( expected: @, calorieCheck.getTempSpeed());

CalorieCheck calorieCheck = new CalorieCheck();

calorieCheck.setTempWeight(tempWeight);
calorieCheck.decreaseData();
assertTrue(calorieCheck.getCursor());
assertEquals( expected: tempWeight-1, calorieCheck.getTempWeight());

//tempWeight = 00/ 9992.= HMEGE B
tempWeight = @;
calorieCheck.setTempWeight(tempWeight);
calorieCheck.decreaseData();

assertEquals( expected: 999, calorieCheck.getTempWeight());

Aupe — fAlea Cpapd =71
J/cursor = false, Speed &7

calorieCheck.setCursor(false);

int tempSpeed = calorieCheck.getSpeed();
calorieCheck.setTempSpeed(tempSpeed);
calorieCheck.decreaseData();
assertFalse(calorieCheck.getCursor());

assertEquals( expected: tempSpeed-1, calorieCheck.getTempSpeed());

J/tempSpeed
tempSpeed = 8;
calorieCheck.setTempSpeed(tempSpeed);
calorieCheck.decreaseData();

assertEquals( expected: 99, calorieCheck.getTempSpeed());

| = 05 99C= HFOF Y,
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Calorie Check Test

@Test
public void changeCursor() {

CalorieCheck calorieCheck = new CalorieCheck();
boolean cursor = calorieCheck.getCursor();
calorieCheck.changeCursor();

[/ FHNE HEET MYE HPGEX 2O

assertEquals('cursor, calorieCheck.getCursor());

@Test
public void saveCalorieSetting() {
CalorieCheck calorieCheck = new CalorieCheck();

int expectedSpeed = 18;

int expectedWeight = &4;

//temp speed, weight &%
calorieCheck.setTempSpeed(expectedSpeed);
calorieCheck.setTempWeight(expectedWeight);

calorieCheck.saveCalorieSetting();

//temp speed, weight~7f &% speed, weight df A
assertEquals(expectedSpeed, calorieCheck.getSpeed());

assertEquals(expectedieight, calorieCheck.getWeight());
//L,u sor=true = HF=Af

assertTrue(calorieCheck. getCursnr())

by
[Ms)

@Test
public void enterSetSpeedandWelght() {
CalorieCheck calorieCheck = new CalorieCheck();

calorieCheck.enterSetSpeedandWelght();
[/ 2% speed, weight 7} tempSpeed, tempWeightdf S IH=A

assertEquals(calorieCheck.getSpeed(), calorieCheck. getTempSpeed())

Joy

ro

assertEquals(calorieCheck.getWeight(), calorieCheck.getTempWelght());

@Test
public void startCalorieCheck() {
CalorieCheck calorieCheck = new CalorieCheck();

calorieCheck. starttalurlecheck(}
Jiflag £F Aoy
ussertFulse(calurleEheck getIsPause());
assertTrue(calorieCheck.getIsStart());

m
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Calorie Check Test

@Test
public void resumeCaloreCheck() {
CalorieCheck calorieCheck = new CalorieCheck();

calorieCheck.resumeCaloreCheck();

//flag £F HEA 2
assertEquals( expecied: false, calorieCheck.getIsPause());
@Test

public void pauseCalorieCheck() {
CalorieCheck calorieCheck = new CalorieCheck();

[/flag £F

assertEquals( e:pected: true, calorieCheck.getIsPause());
I
@Test

public void endCalorieCheck() {
CalorieCheck calorieCheck = new CalorieCheck();

[/flag & & . pi
assertEquals( expected: true, calorieCheck.getIsPause());

assertEquals( expected: false, calorieCheck.getIsStart());

@Test
public void increaseCalorieCheckTimer() {

CalorieCheck calorieCheck = new CalorieCheck();

LocalTime time = calorieCheck.getCalorieTime();
J/calorieCheck.startCalorieCheck();
calorieCheck.setStartFlag(true);
calorieCheck.setPauseFlag(false);

start = true

' ’ ) A L"‘l_a i - {H',A- Hp.:-" g;_;'ﬂ ;‘*‘-.EI‘::: .ngé :‘;‘é‘-,g‘/
calorieCheck.increaseCalorieCheckTimer();
time = time.plusNanos(10000008);

assertEguals(time, calorieCheck.getCalorieTime());

double n = 23 +* 3608 + 59 * 48 + 59;

n = n*100;

for(int i=08; i<n; i++){
calorieCheck.increaseCalorieCheckTimer();

I
time = LocalTime.of( hour: 23, minute: 59, second: 59);
fHA 23A) 59E ROEFA SO/GEA H=

ussertEquuls(tlme, calorieCheck.getCalorieTime());
assertTrue(time.equals(calorieCheck.getCalorieTime()));

assertTrue(calorieCheck.getIsPause());
assertfFalse(calorieCheck.getIsStart());



Calorie Check Test

@Test
public void resetCalorieCheck() {
CalorieCheck calorieCheck = new CalorieCheck();

calorieCheck.resetCalorieCheck();

assertFalse(calorieCheck.getCursor());
assertEquals( expected: 8, calorieCheck.getCalorie());

assertEguals(LocalTime.of({ hour: 8, minute: @, second: @, nanoOfSecond:

, calorieCheck.getCalorieTime());

@)
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Calorie Check Test - passed

S
Run: . Main_test CalorieCheckTest
P v O 1217 = T (ORI T, - § + Tests passed: 11 of 11
¥ CalorieCheckTest (Sys) 2 % "C:\Program File:
o startCalorieCheck 8 ms
- increaseCalorieCheckTimer 291ms | Process finished
pauseCalorieCheck 0 ms
enterSetSpeedandWeight 0 ms
changeCursor 0 ms
resetCalorieCheck 0 ms
saveCalorieSetting 0 ms
- decreaseData 0 ms
- endCalorieCheck 0 ms
» increaseData 0 ms

resumeCaloreCheck 0 ms



World Time Test ()

2
@Test @Test
public void changeTimezone() { public void getWorldTime() {
WorldTime w= new WorldTime(); Time t=new Time();
w.changeTimezone(); WorldTime w= new WorldTime();

int result=w.getCurrentCity(); - changeTinezone ();

evnected: -
assertequals( expected: 1,result); LocalDateTime tm=t.getCurrentTime();//set gnt to paris

int gmt=t.getGHT();

int result=w.getWorldTime(tm,gmt).getHour();
.changeTimezone();
.changeTimezone(); assertEquals( expected 16, result);

.changeTimezone();
.changeTimezone();
.changeTimezone();

E E E E =

result=w.getCurrentCity();
assertEquals( expected: @,result);



World Time Test - passed

+" Test Results
WorldTimeTest
getWorldTime()

changeTimezone()

16 ms
16 ms
13 ms

1 ms

()



Buzzer test

PARR

Ve

@Test

public void stopBuzzer() {
ModeManager man = new ModeManager();
Buzzer buzzer = man.getBuzzer();

public void beepBuzzer(){
ModeManager man = new ModeManager();
Buzzer buzzer = man.getBuzzer();
Alarm alarm = ((Alarm)(man.getmodes()[11));

Alarm alarm = ((Alarm)(man.getmodes()[1])); alarm.enterEditAlarm();

alarm.enterEditAlarm(); alarm.increaseAlarmTime();
alarm.changeCursor();

alarm.increaseAlarmTime(); alarm.changeCursor(); alarm.increaseAlarmTime(); alarm.increaseAlarnTime();

alarm.saveAlarm(); alarm.turnOnOffAlarm(); //01:01= 1% alarm - alarm.saveAlarm();

alarm.turnOnOffAlarm();

Time time = ((Time)(man.getmodes()[8]));

time.setCurrentTime(LocalDateTime.of ( year: 2028, month: 1, dayOfMonth: 1, hour: 1, minuter 1));
alarm.isAlarmTimeCheck();

time.setCurrentTime(LocalDateTime.of( year 2028, month: 1, dayOfMonth: 1, hour: 1, minuter 1));

alarm.isAlarmTimeCheck();

Time time = ((Time)(man.getmodes()[8]));

Moy

05

alarm.changeAlarm(); alarm.turnOnOffAlarm(); J/00:002= 25 alarm &

time.setCurrentTime(LocalDateTime.of( year: 28208, month: 1, dayOfMonth: 1, hour: @, minute: 8));
alarm.isAlarmTimeCheck();

f/alarm0f £&/7 = &
time.setCurrentTime(LocalDateTime.of( year: 2828, month: 1, dayOfMonth: 1, hour: 1, minute: 1));

//stopBuzzer £ o}
assertTrue(buzzer.getBuzzeron());
buzzer.stopBuzzer();
assertFalse(buzzer.getBuzzerOn(]});
assertFalse(buzzer.getIsAlarmRinging());

buzzer 7}

assertEquals( espected: true, buzzer.getBuzzerOn());
assertTrue(buzzer.getIsAlarmRinging());




Buzzer test - passed

Run: . Main_test BuzzerTest
P v @ 121 T = QK 1”&
«" BuzzerTest (Sys)
[ stopBuzzer
- beepBuzzer

" Tests passed: 2 of 2
181 ms

"C:\Program Fil
181 ms=
0 ms

Process finishe
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Testing Traceability

Analysis




Set Timer
Start Timer
Pause Timer
Resume Timer
Cancel Timer

Start Stopwatch
Pause Stopwatch
Resume Stopwatch

Lap Stopwatch

March

S$16517.518.519.520

534539540541

535

537

£36

38

51

59510513514515

£23

524

525

827

£26

528

“

£2

53

54565758

5

522

£33

529531530532

EEE PS
S34 | enterEditTimer (BRG]
535 | startTimer 4
T3 e
7 B
528 | cancelTimer. ME
539 P e
540 | Timer. 120
547 | Timer.changeCursor() 21

Timer Timer
135 | IncreaseCurrentTime Mz0 E
[ MZ1 M40
M7 MZL M1 [changeCursor
A MZ2 maz
3] [ M43 [FarTimer
[ W25 Ml
W T M4S
W dtNod: WE M6 |[canceiTimer
17| changeCursor() W5 47 [StopBuzzer Buzzer
M [
WE M43
Y WAT M50,
M5t
M52

« >
[ ] = [ G o [[miTes
I" | startCalorieCheck: W7 M1 Ut
12 [increaseCaloneChedkTimer WE 12 [ickBution UZ__|enterEditiodel)
13 | pauseCaloneCheck WE M3 . Show Times Test N/ UI__|changeCursor])
14| resumeCaloreCheck MIE W4 [changeCursor Set Timer Test U34U35U3EUITUBL3 U4 |changeStatus()
B - W10 M5 Start Timer Test U0 US__|savelodeDatal)
& | changeCursar [E [T 3 Pause Timer Test U4l UE
7| saveCaloneset M1 W7 [startCalonieCheck Resume Timer Test ) U7 |changeGursor])
16 | resetCalorieCheck: MIE E alcrieCheckT Cancel Timer Test uaz UE [increaseDiatal)
15 |CalorieCheck [ W3 |pauseCaloneCheck US__|decresseData))
10| CalorieCheck W12 M1 UTD__|=aveCakneSetting)
17 | CalorieCheck changeCursor( [E [GHE Ut 5
12| enterEdTimer M35 M35 MADNAT MAZ M1z UZ__|startCalneCheck])
113 |saveTimer M4z M13 |changeCurser EEE U2 |resumeCaloreCheck()
14| StartTimer [} M14 [SaveCalon: Show Stopwatch Test NiA UT4__|pauseCakneCheck()
1HE WA 15 [resetCalorieCheck Stan Stopwatch Test utg Ufs |endCalorieCheck{)
I M43 W16 |resumeCalorieCheck Pause Stopwatch Test uz20 Ul |increaseCalorieCh
7] M40 17 [endCalonieCheck Resume Stopwatch Test |19 Uiz L
T7E| cancelTimer WAE 15 [calodateCalone Reset Stopwatch Test uzi UTE__|staniStopustch)
S| F W39 M1 Lap Stopwatch Test uzz. UlS__|resumeStopwatchi)
20| Timer. MAD M20|IncreaseCurentTime Show Workd Time Test N
M21 Change Timezone Test | UZ5.
mz| Stopnatch Show Caloris check Test [N/
Set Speed and Weight test | U11.U7.UBUS.UI0
Start Calorie Check test__|U12
Pause Calorie Check test |14
Resume Calorie Check test U123
Reset Calorie Check test Uy
Beep Buzz test 43
Stop Buzz test a4
Change Mode test U6
Set Mode _test UTUZ U U4.US




Show Timer Test

U46,U47,U48,U49,U50

Set Timer Test

U34,U35,U36,U37,U38,U3

Start Timer Test U40
Pause Timer Test U41
Resume Timer Test U40
Cancel Timer Test U42
N/A
u27
u28
U29,U30,U31,U32
Return to Default Screen us
Test
Show Stopwatch Test N/A
Start Stopwatch Test u18
Pause Stopwatch Test U20
Resume Stopwatch Test u19
Reset Stopwatch Test u21
Lap Stopwatch Test u22
Show World Time Test N/A
Change Timezone Test u25
Show Calorie check Test N/A
Set Speed and Weight test |U11,U7,U8,U9,U10
Start Calorie Check test u12
Pause Calorie Check test U14
Resume Calorie Check test [U13
Reset Calorie Check test u17
Beep Buzz test U43
Stop Buzz test U44
Change Mode test U6

Set Mode test

U1,U2,U3,U4,U5

index |Unit Test

U1 clickButton()

U2 enterEditMode()

U3 changeCursor()

u4 changeStatus()

U5 saveModeData()

U6 ct Node()

u7 changeCursor()

us increaseData()

U9 decreaseData()

u10 saveCalori ing()
U11 enterSetSpeedandWeight()
u12 startCalorieCheck()
u13 resumeCaloreCheck()
U14 pauseCalorieCheck()
u15 endCalorieCheck()
uU16 increaseCalorieCheckTimer()
u17 resetCalorieCheck()
u18 startStopwatch()

u19 resumeStopwatch()
U20 pauseStopwatch()
u21 resetStopwatch()
u22 lapStopwatch()

U23 increaseCurrentTime()
u24 getWorldTime

uU25 changeTimeZone
U26

u27

u28

U29

U30

U31

u32

U33

U34 enterEditTimer()
U35 changeCursor()

U36 increaseData()

u37 decreaseData()

U38 saveTimer()

U39 decreaseTimer()
u40 startTimer()

U41 pauseTimer()

u42 cancelTimer()

U43 beepBuzzer

U44

stopBuzzer()

f!ﬂ
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System Test Cases

1 Show Time Al ST} A|ZH0| A|A|0fl AR El AMIPM, 12/244| 7t BHAl S0| SAIS F48H0] A|ZHS =
Test Sl=X| test
2 SetTime  -Userof|7| 2.E A|7h 24410 Cj5t0] A& ghis 7|55 Test
Test -9l3 = test case@} L =310 A E|Q=X| Test
3 Show Timer -Timer mode2 % Mz} £|=X| test
Test -&4 X Timer A|7+0| A HA|E|=X| test
4 Set Timer -TimerE MAst0 M™ 740| HHHE| =X]| Test
Test -Timer7} AA| ™ X| =l AEHOf| A Bt ZHE 8} =X| Test.
5-1 Start Timer  -TimerZ A|Xtst0 A|Zt 30| ZEASH= Z0| Bt | =X] test
Test
52  StartTimer -Timer} B2 El AlEf or SZE|X| 42 AEHY [ ARt HHES £ & OFF S& K| YeX|
Test test
6 Pause Timer Timer7} S & =0l AFEJ 0| A pause HHES Q|2 Hior2 [l Timer7} AA| ™ X| SH=X| test
Test
7 Resume Time Timer7} pauseAHEHOf| A resume HHE-S Q12 Biors [ AA|HX| £[0] QY E
r Timer7} CrA| T§A|ZHO| HAM o 2 £|=X| tes
Test
8-1 Cancel Timer Pause TimerAtEj 0| A{ cancel HHE S Q|2 HiorS [ TimerZ} X 7|3tk =X| test
Test

8-2 Cancel Timer Timer 7} ™ E|0] QK| AUS [ HES Q3 dotz
Test Off & T Xt B}X| ‘EgEﬂ test

8-3 Cancel Timer Timer 7} M X =
Test Off 3 SZHE StX| REX| test.

1. Show time

2.Set Time

3. Show Timer

4. Set Timer

5. Start Timer

5. Start Timer

6. Pause Timer

7.Resume Timer

8. Cancel Timer

8. Cancel Timer

8. Cancel Timer

R1.1

R1.2

R21

R22

R 23

R 23

R24

R 2.5

R 2.6

R 2.6

R 2.6

L]

Pass

Pass

Pass

Pass

Pass

Pass

Pass

Pass

Pass

Pass

Pass



System Test Cases

10

11

12

13

14

15

Testgr=

Show Alarm
Test

Change Alarm
Test

Turn On/Off
Alarm Test

Set Alarm
Test

Return to Default
Screen
Test

Show Stopwatch
Test

Start Stopwatch
Test

Description

3tMHo| Alarm mode2 A3t £| 9
test

Che Alarm 3} 7|28 H{ES 3 H9Hote m, & A Alarmo| C}S Alarmo| 30| EA| | =X test
S x|l Display=
2l

Ol Alarmo| &=A] Ab OFX| 2 AlarmQ [T * tH

Alarmg 7|7{L} 17| Q[ HES =72 O,
&1 x| DisplayZ Ol Alarmo| 7{ M QICHH, AlarmE T1=X| &¢l
S 1} Display=

Ol Alarmo| J{ M QICIH, AlarmE 7| =X| =tQl

Alarmg 117{L} 7| L 0| Displayof =¥z =X| =9l

Alarm A|Z+S 4H317| 8f HES 52 1), HAY =Y L2 A|ZH0| 2HE X test
<

LAY Y

A% Bt Alarmo| F|TH 2 A7 &| 9= X test

rjm
fjo
MHr
bt
fjo

=

|
=

SetZcof 2 M

o
1
mjo

2|

rlo

M= L AlZHO| X|LEEH 2 &

[r

O| default 3tH o 2 M3l|=X| test

el

Stopwatch Mode7} %t Display £|= X| Test

Stopwatch7} A|ZHE| K| Qt2 AFER Q! [ A|ZHSHY| QS M HHES 5712 [ StopwatchZ} A|XHE| 0] countupE| =

| Alarm-2 Ofx| 2t Alarm C}2 Alarm© 2 Display k| =

ol [ User7| 0| & Alarm ModeZ H0{L}7| M OFX|2to 2 2 AlarmO| HEA|E|=X|

=

X| test

Use Case

Show Alarm

Change Alarm

Turn On/Off
Alarm

Set Alarm

Return to
Default Screen

Show
Stopwatch

Start Stopwatch

System
Function

R3.1

R3.2

R3.3

R3.4

R10.1

R4.1

R4.2

Pass

Pass

Pass

Pass

Pass

Pass

Pass



System Test Cases

()

Pause Stopwatch  Stopwatch7} St =0l AEJOA HHES Q13 5ok [, A|ZH A At LA|™EX| S,
Test X|=l A|Zt0| 2H}2A| Display £|=X| Test

17 Resume Stopwatch Stopwatch7} & |

Test A™ o 2 AR E|=X| test

18 Reset Stopwatch ~ Stopwatch7} LA| ™ X| =l AFEJOAM HHES Q|3 gioks [f, Stopwatch7} X 7|3} &=
Test

19 Lap Stopwatch  HEZ2 /& 2ror2 [ff, 5tHHOof Laptime2 2H| 2 7| Display &}=X| test

20 Show World Time World Time Mode&
Test

%t Displayst= X| Test

21 Change Timezone TimezoneO| £=X}& o 2 H}3|=X| Test
test

22 Show Calorie check Calorie Check ModeZ£ %t Display &}=X| Test

2A|™ Pause Stopwatch

| Ql= AEOAM HES Q13 2ok 1ff, YA|EX| £|0] Q! E Stopwatch?} % Resume Stopwatch

X| Test Reset Stopwatch

Lap Stopwatch

Show World Time

Change Timezone

Show Calorie Check

test

23 Set Speed A5t Z+0| Calorie Checkoj| 2HF2 7| Bt | =X| Test Set Speed and Weight

and Weight test
24 Start Calorie Calorie CheckZ A|Zts} 1, 2HF2 A CalorieE H|AtSL0] $t™0f| Display &}-=X| Test Start Calorie Check
Check test

25 Pause Calorie Chec Calorie Check =90l AMEJO| A HE S Q21 Hhors [ff Calorie Check7} QA| ™ X| &[0, A A= Pause Calorie Check
k O| & Calor|e7|- g|-|3=|01| %t Display £|=X| Test
test

26  Resume Calorie Che Calorie CheckE QUA| ™ X|5t AEJO| M HHE S @ 28to+S [} Calorie Check7} Xif A|ZtE|+=X| Resume Calorie Check
ck Test

test

R4.3

R4.4

R4.5

R4.6

R5.1

R5.2

R6.1

R6.2

R6.3

R6.4

R6.5

Pass

Pass

Pass

Pass

Pass

Pass

Pass

Pass

Pass

Pass

Pass



System Test Cases

27

Reset Calorie Check Calorie CheckZ UA| ™ K|St AEJO A, HES Q|3 HiotS f  Reset Calorie Ch  R6.6 Pass

test Calorie Check7} X 7|3} £|=X| Test eck

28-1 Beep Buzz Alarmo| -+ = 67} X| 2 E0f|A{ Alarm Icono| Display| 11 Beep Buzz R9.1 Pass
test Beep Buzz7| gfAil=X| Test

28-2 Beep Buzz Timer7} 2Lt & 67}X| 2 E0f| A Displayz| 1 Beep Buzz7} 2t4 Beep Buzz R9.1 Pass
test Sl=X| Test

29-1 Stop Buzz -Buzzer7} 22|10 Q! 1 Alarm Icono| Displayz| T /o™ ot  Stop Buzz R9.2 Pass
test HE0| Q& E BuzzerE M1 Alarm lcon0| 2% X| =X|

Test.

29-2 Stop Buzz -Buzzer7} 22|10 Q! 1 Alarm Icono| Displayg|X| ot [ 0f  Stop Buzz R9.2 Pass
test M HEO| L= Buzzery} HE X|=X| Test.

30 Change Mode DCIl &XX8 o 2 dHh = X| Test Change Mode R7.1 Pass
test

31 Set Mode -Activate / Deactivate A < Activate 3 @ E0F FA| £|=X| Te Set Mode R8.1 Pass

test st
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